CHAPTER 2
A Strategic Framework for Compensation

ESSENTIAL OUTCOMES

If nothing else, my students should learn:

1.

That, in order to design an effective compensation strategy, it is essential to first
understand the strategic context in which a firm operates, particularly the managerial
strategy in place.

How to use the strategic framework for compensation as a tool to help identify the
strategic context for compensation, and the implications for designing the compensation
strategy that best fits a particular organization.

LEARNING OUTCOMES

After completing this chapter, students should be able to:

Understand the concept of “fit” and explain why a compensation system that is a success
in on firm can be a failure in another.

Explain how the strategic framework for compensation can be used as a tool for
designing effective reward and compensation systems.

Describe the main elements in the strategic compensation framework, and explain how
they relate to one another.

Describe the three main managerial strategies that organizations can adopt, and explain
the implications for the most effective reward and compensation system.

Describe the main determinants of managerial strategy, and explain how they can be used
to select the most appropriate managerial strategy.

Analyze any organization to determine the most appropriate managerial strategy for that
organization to adopt.

Discuss how conditions in North America changed during the twentieth century, and
explain how this has affected today’s managerial and compensation strategies.



KEY CONCEPTS

Key concepts covered in Chapter 2 include the concept of “fit” as it relates to an organizational
reward system, organizations as systems, the strategic framework for compensation (structural
and contextual variables), and the three main types of managerial strategy. Students need to
understand the implications of each managerial strategy for organizational structure, including
compensation structure.lt is important for students to understand that none of the managerial
strategies is inherently superior to the others, but that some managerial strategies will better fit a
given organization than other managerial strategies, depending on the contextual variables
related to environment, corporate strategy, technology, organizational size, and the nature of
work.

STUDENT MOTIVATION
Why should students care about the material in this chapter?

e The previous chapter emphasized that the success of a compensation system depends on
the fit between the compensation system and the organization. Nevertheless, how do we
know if we will have a good fit? The strategic framework provides a tool for helping to
predict this, and for identifying the compensation system that will be the best fit with the
organization and its business strategy.

e As the business environment grows ever more competitive, being able to analyze an
organization and come up with the compensation strategy and system that will be the best
fit with the organization and its business strategy is a skill that will be highly valued by
employers.

e Because it is such a fundamental building block in designing an effective compensation
strategy and system, an inability to effectivelyuse the strategic frameworkwill make it
virtually impossible for the student to achieve the learning objectives of this course or to
become a successful compensation professional.

e A strong understanding of this chapter will help students strengthen their understanding
of other compensation areas.

BARRIERS TO LEARNING

e Some students may be so intimidated by the seeming complexity of the strategic
framework that they give up too easily or do not even attempt to master it. It is crucial for
the instructor to explain the framework piece by piece—while extensivelyusing the
strategies for engagement described below—and to emphasize its importance as a crucial
building block for achieving success in this course. Students need to come to see the
strategic framework as an essential and helpful tool in solving compensation problems.



e Students often confuse the role of the structural variables (used for determining the
managerial strategy actually in use) and the contextual variables (used for determining
what is the most appropriate managerial strategy to adopt). The instructor will need to
continually emphasize this distinction through both lecture and application activities.
Repeated use over time of a clicker question testing student grasp of this distinction will
be very useful in gauging progress toward this understanding.

ENGAGEMENT STRATEGIES

In the opening vignette for Chapter 2 (A Tale of Two Firms), the text provides two diverse
examples to illustrate the concept of fit. Divide students into pairs, and ask them to decide which
compensation system is likely the most effective, in terms of the criteria for success listed in
Compensation Notebook 1.1. Use clickers to ask each pair to indicate their choice.Ask them to
justify their selection of LS Electro-Galvanizing or Koch Foods Chicken Processors. Use the
board to tally the advantages and disadvantages of the two different compensation systems. Use
the concept of fit to note that both systems are effective, but tell them to think about what would
happen if the two firms traded their compensation systems? (Of course, they would both be
deader than the Koch chickens!)

Follow up on this example by asking students to work out the key differences in contextual
variables between the two firms. They should hit on points relating tothe firms’environment,
business strategy, technology, size, and work force.Carry on to ask the broader question, “If fit
between the compensation systemand key characteristics of the firm isessential, then what exactly
are thesekey characteristics, and exactly how dothey link to compensation?”’Note that the
purposeof this chapter is to provide a strategicframework as a tool for answering this question.

Next, reinforce the concepts of business strategy and organizational structure. Explain and
emphasize that for the organizational system to be effective, these two concepts must fit with other
key variables.

Because it can look intimidating, walk students through the strategic framework for
compensation (Figure 2.1), emphasizing that it will be become an extremely useful tool once
students understand it and are able to apply it. Explain the various parts of it first, and then
explain how the parts fit together.

This sets the stage for introducing managerial strategies and eventually showing how they relate
to reward systems. The key unifying role of managerial assumptions in establishing managerial
strategies needs to be emphasized, pointing out that even though many managers may never have
heard of the three managerial strategies, they will nonetheless evolve toward one, depending on
their assumptions about people and human nature. Use the exercises “Design Your Own
Company ” (a supplementary exercise included under “additional resources”) to help students see
the impact of managerial assumptions on the way that firms are structured, and to help them
understand the structural alternatives for the various managerial strategies.



Once the strategies have been introduced, use the examples of Foxconn (Compensation Today
2.1), Eastman Kodak (Compensation Today 2.2) and WestJet (Compensation Today 2.3) to
illustrate how the structural variables (shown in Compensation Notebook 2.1) differ across a
classical, human relations, and high-involvement firm. Note how the structural variables need to
be internally consistent for a successful organization, and how structural variables interrelate.
These examples also give students a feel for what organizations utilizing the three different
managerial strategies feel like on the ground.

To reinforce understanding of the three managerial strategies, and to understand how they can be
used to help find solutions to organizational problems, Case Question 1(“Achtymichuk Machine
Works”) provokes excellent insight and material for discussion. Organize the students into pairs

to analyze this case and report their findings.

Next, use the exercise “Classify Your Firm” (a supplementary exercise included under
“additional resources”) to provide students with practice in applying the structural variables to
determine which managerial strategy is in place at a firm for which they have been employed. As
stated in the exercise preamble, tabulating and feeding back the results can really add to the
flavour of what these different managerial strategies feel like in practice.

This can also lead to a very fruitful discussion of why these different firms use different
managerial strategies, and whether the managerial strategy fits with the contextual variables for
each organization. Some will be a good fit—and should therefore be a successful firm—and
some will not be, and the firm should therefore be less successful. It won’t always work out
exactly this way (i.e., some firms can be successful despite a mismatch between the managerial
strategy and the contextual variables if they are monopolies, for instance), but overall this will
provide good fodder for discussion, especially since these are firms students have had personal
experience with.

To build further on the personal experience of students, end of chapter Exercises 1 and 2 work
together very well to reinforce application of the entire strategic framework.

For further reinforcement of the strategic framework, Case Question 2(“The Fit Stop”) provides
practice in applying the contextual variables to determine the most appropriate managerial
strategy for a firm to use, and illustrates links to the assumptions of the founder. Case Question 3
(“Multi-Products Corporation”) gives additional practice in the application of the contextual
variables, and provides students with the chance to carry through to determine what would be the
most appropriate compensation strategy for this firm.

For the final section of the chapter, “Trends in Managerial and Compensation Strategies,” use
Discussion Question 3 to develop the link between changes in the Canadian socio-economic and
business environment to changes in managerial strategy and changes in compensation strategy.
Ask students if they have had any personal experiences with these trends.



ASSESSMENT TOOLS

To assess student learning against the chapter learning outcomes, before the end of the lecture,
students may be asked to write short answers to questions such as the following:

v" What was the most important thing you learned during this class?

v" What important unanswered questions do you have?

Students can compare their questions and answers with a classmate or you can invite
questions/responses from the large group.

REFLECTIONS ON TEACHING

The key to providing the best possible learning experience for students is continually assessing
the extent to which students are mastering the course material, and reflecting on ways to promote
the learning experience. This can be aided by instructors asking themselves the following
questions after each chapter:

v" Which learning exercises/pedagogical activities really worked?
Which didn’t work as well as | had hoped?
Were students engaged with the material?
Were students focused on key concepts, or were they distracted by tangents?
Did my assessments suggest that students understood the concepts?
Were my students able to relate and apply the concepts effectively?

What should | do differently next time?

AN N N N N

How can | best gather student feedback?

ADDITIONAL RESOURCES

Chapter Summary

Chapter 2 presents the first of two conceptual tools that underpin the effective design of
compensation strategy. The purpose of this chapter is to follow up on the concept of strategic fit
briefly introduced in Chapter 1. If fit between the compensation system and key characteristics
of the firm is essential, then what exactly are these key characteristics, and how exactly do they
link to compensation?

The strategic framework presented in Chapter 2 is intended to answer these questions, by
providing a conceptual tool for linking compensation strategy to the managerial strategy used by
the firm, as well as to the corporate strategy and other key contextual variables. The key idea for
students to take away from Chapter 2 is the interdependence between the compensation system,



the other structural variables, the managerial strategy, and the contextual variables.A related
insight is that if any of these characteristics change, changes to other characteristics, including
the compensation system, may be needed.

Students also need to understand that just because the contextual variables seem to call for a
particular managerial strategy, this is no guarantee that the firm will have actually adopted that
managerial strategy. To know which managerial strategy is actually in place, if any, they need to
examine the structural variables. It may well be that a firm has no definite managerial strategy—
either explicit or implicit—in place, which then makes it impossible to systematically identify
the most appropriate compensation system for that firm. Ideally, before the compensation system
is redesigned, this organizational issue should be ironed out.

Suggested Answers to Discussion Questions

1. Students need to focus on the concept of “fit” and the importance of an organizations
strategy. As with any process (e.g., leadership values, learning and development,
performance management, etc.) the focus on the organizational goals or its strategy is what
will often determine the needs both short and long term. Each organization will often have its
own unigue organizational structure (i.e., what is needed to generate the behaviours
necessary to carry out the organization’s strategy). So how well a compensation or reward
works in an organization will depend on how it “fits” the organization’s context and its
system as a whole. With this in mind, it is less likely that a successful compensation system
can be a “one size fits all.”

2. Refer to Compensation Notebook 2.1. Recommended reward systems are described in the
table.

3. Since the late 20th century Canadian compensation systems are moving toward more
complicated pay systems. Organizations moved toward indirect pay thus making extrinsic
reward more complex. More benefits were added to increase employee security and well
being (note: the Kodak example). There has been a major increase in the adoption of pay-for-
performance, group or team-based incentive systems and some companies have looked at
pay-for-knowledge systems in place of traditional job-based pay systems. Flexible benefit
plans have become more popular. More companies are moving away from defined benefit
pension plans (i.e., guaranteeing specific payout amounts) and toward defined contribution
plans (i.e., where there are no such guarantees). There is also an increase in the use of part-
time, temporary and contract workers. They are often seen as cheaper to employ but can also
serve as a buffer against demand fluctuations in global economic climate that is constantly
changing.

Notes for Exercises

1. The purpose of this exercise is to give students a better understanding of the contextual
variables and their purpose by applying them to organizations with which students have had
personal experience, and, in so doing, reinforce their understanding of how to assess the type



of managerial strategy practised by a firm, and their understanding of the linkages between
managerial strategy and reward structure.

Assign this exercise to the class to reflect on individually before breaking the class into small
groups for further discussion. Have the groups identify the organizations they are using as
their examples and list them on a flip chart or board, along with their responses to each of the
questions in the exercise. Depending on the size of the class, it may be necessary for each
group to select just one organizational example to share with the class. Using the slide of
Compensation Notebook 2.2, engage the groups in discussion of the relationships between
the contextual variables and the actual managerial strategies that seem to be in use. Tie in the
question of whether the reward system fits the managerial strategy.

2. The purpose of this exercise is to take Exercise 1 another step farther, by asking the students
to reflect on whether the actual performance results match what theory would predict, and if
not, why not. Use the same groups as in Exercise 1. If some of the predicted linkages don’t
match up, discuss some of the possible reasons why this may have occurred. Possible reasons
may include misclassification on the part of the students, or a misunderstanding of the actual
performance level of the firm. Point out that most firms do not fall neatly into boxes, and that
many factors affect firm performance, so that the theory may not necessarily “work” in every
case.

Notes for Case Questions

1. Achtymichuk Machine Works.The purpose of this case question is to help students see how
the three managerial strategies can translate into specific managerial and organizational
actions, to see how they can be used to generate ideas for solving problems, and to see how
the implications for compensation are very different depending on the managerial strategy
being pursued.

The classical consultant would see this as a problem of structure, job design, training, and
compensation.First, she would study the jobs, to see how they could be broken down into
smaller fragments that would make training and learning, as well as supervision, easier.She
would create specialist jobs, such as cleaning all washrooms, cleaning all hallways, cleaning
around all of a certain type of machine. Each job would be studied to find the most efficient
equipment, cleansers, and procedures.Workers would then be trained in these methods, and
monitored to be sure they were using them. To provide motivation, some type of piece rate
system might be implemented, where cleaners get paid for each toilet cleaned, each machine
area cleaned, and the like. In order to supervise and control all this, a specialized cleaning
department would be created, with all cleaners reporting to a single supervisor expert in all
aspects of the necessary cleaning tasks.

The human relations consultant would see this as a job satisfaction problem.If workers
received higher satisfaction from their job and workplace, then they would be more likely to
stay with the firm after they had learned their jobs.He would note that workers’ social needs
are not being satisfied, and neither arerelated needs for esteem and recognition by peers.He
would create a separate cleaning department to give the cleaners a sense of identity and



create opportunities for the cleaners to socialize at breaks.Another purpose of having a
separate cleaning department would be to remove the cleaners from the direct supervision of
the department supervisors, who would look down on the cleaners, and not provide them
with any social support.He would also change the compensation system so that pay would go
up with seniority, and provide benefits, such as pension plans, to encourage retention.

Finally, the high-involvement consultant would see this mainly as a problem of insufficient
intrinsic rewards, and attempt to redesign jobs to make them more interesting.\Workers would
be given some say over the cleaning products and methods to be used.Cleaners might be
organized in self-managing work teams, in which they would make decisions about which
cleaners would clean what.To give them some sense of being on a team, and to give them
more independence, a cleaning department would be created, headed by a supervisor with a
participative leadership style.Cleaners would be put on salary, and also some type of group-
based pay plan to tie their goals to those of the firm, and probably organizational
performance pay as well, depending on whether this is offered to other employees in the
firm.

Which solution is the best?It depends on the managerial strategy being practised by the firm.
If classical is being practised, the classical method may work best; if human relations is being
practised, then the human relations suggestions will work best; and if high-involvement is
being practised, then the high involvement ideas would be most suitable.One thing that |
point out to the students is that any of the three would likely be an improvement over what is
being done now.I also point out that there are some commonalities in the suggestions of the
three consultants—the creation of a cleaning department with its own supervisor—although
the reasons for this suggestion are very different in each case.

. The Fit Stop.The purpose of this case question is to give students a better understanding of
the contextual variables and their purpose by giving them an opportunity to apply the
template for selecting the most appropriate managerial strategy (Compensation Notebook
2.2).(Note: This is a recurring case and students can do further work with this case later in
the book.See Chapter 4, Case Question 1; Chapter 5, Case Question 3; Chapter 6, Case
Questionl; Chapter 11, Case Question 2; Chapter 12, Case Question 1; and Chapter 13, Case
Question.)

Some points that may inform this case discussion are as follows:

e To determine the most appropriate managerial strategy for The Fit Stop, we need to
examine the contextual variables. The environment is quite unstable, given the
competitors and the changing state of knowledge in physical fitness. The corporate
strategy would be most similar to the prospector, as the firm wants to be the first to make
new fitness products and solutions available to its customers. Under Porter, it would be a
focused differentiator.

e The technology is intended to be intensive, where every customer is given a custom-made
solution to their fitness problems.The overall organization will be quite large, but the size
of each store will be relatively small.Susan needs dedicated employees who will be



willing to learn and develop, and to have a high concern for customers and the company.
She is going to need high membership behaviour, high task behaviour, and high
citizenship behaviour from her employees.All of this suggests a high involvement
managerial strategy.

Susan would likely be favourably disposed towards high involvement, because she
recognizes the importance of teamwork and employee commitment to the success of her
business. She has already decided to hire only full-time employees, in recognition of the
need to have a stable and highly trained work force, which fits in very well with a high
involvement organization. Moreover, her background in sports will likely have taught her
the value of teamwork in achieving success.

3. Multi-Products Corporation. The purpose of this case question is also to give students a

better understanding of the contextual variables and their purpose by giving them an
opportunity to apply the template for selecting the most appropriate managerial strategy
(Compensation Notebook 2.2). In contrast to the Fit Stop above, this case calls for a classical
managerial strategy, although an argument could be made for a human relations
strategy.(Note: This is a recurring case, and students can be given the opportunity to do
further work with this case later in the book.See Chapter 4, Case Question 2,and Chapter 6,
Case Question 2.)

Some of the points that may inform this case discussion are:

The first step is to examine the contextual variables:

o Relatively stable environment, because of the patents, guaranteed source of
funding,stable technology, non-militant labour unions, etc.

o Relatively simple environment, because firm will basically make one product

o Golf club production technology unchanged and straightforward, long linked,
routine, and mass

o Defender strategy, whereby the division will focus on excelling and dominating in
a limited domain, focused differentiator under Porter

o The size of the division is small to medium

o The skills needed by employees are only moderate, although consistency of
performance is important

Overall, the organization probably does not need high membership, task, or citizenship
behaviour.

Given all this, the strategic template clearly calls for a classical managerial strategy.

However, a human relations strategy has some appeal because the firm wants a high
quality product, and the human relations strategy is more likely to produce committed
workers. Moreover, because of the monopoly position the firm holds in regard to the
product, and the fact that demand is price-inelastic, the company could afford the higher
costs of a human relations strategy. Use of the classical strategy will make it more likely
that the employees will become unionized.If the firm does become unionized, use of a



classical strategy could end up producing disgruntled workers who are difficult to fire.On
the other hand, the union in this industry has not been very militant, so unionization may
not be a huge problem for the firm, and if pay and benefits are kept at market levels,
employees may not have a strong incentive to unionize in any case.

If a classical strategy is adopted, a fairly simple system including hourly wages and a
limited set of employee benefits would fit best.Piece rates would fit this philosophy, but
may detract from the product quality needed.

If a human relations strategy is selected, a salary approach, with seniority increases and
liberal benefits increasing with time, would be the best bet, along with opportunities for
social interaction among organization members.

Possible Sources of Lecture Enrichment

The following web links can be used as a source of materials for lecture enrichment:

For examples of the latest trends and issues in compensation, go to the Canadian HR
Reporter:http://www.hrreporter.comor the
WorldatWorkwebsite:http://www.worldatwork.org/waw/home/html/compensation_home.

isp.

Supplemental Exercises

The following two exercises can be used to help students better understand managerial strategy,
and how it relates to the structural variables of the firm.

1. Design Your Own Company. This exercise is intended to show how managerial

assumptions about people (employees) affect the way in which an organization will be
structured, and also to help students better understand the main structural options
available to an organization. Following are three sheets, each asking students to adopt
classical assumptions (Set 1), human relations assumptions (Set 2),or high-involvement
assumptions (Set 3).

Form students into pairs for this exercise, and hand out one sheet to each pair.
Approximately one-third of the pairs should get Set 1, one-third should get Set 2, and the
remaining third should get Set 3. (Don’t tell the students that there are three sets of
assumptions—this would greatly diminish the impact of the exercise!) It works best if
you hand out each set to a different portion of the classroom.

In this exercise, student pairs are asked to design a fictitious firm, using the six structural
dimensions, based on the assumptions they are given.After they have done this, ask each
pair to indicate the choice they have made for each structural variable, and record the
letter for each structural choice on a chart on the blackboard. (Choice (a) for structural
dimension represents the classical school; choice (b) represents the human relations
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school, and choice (c) reflects the high-involvement school.) Start with the same area of
the room, say, with the classical assumptions. Students will notice how consistent the
responses are. Students with the other sets will notice how different the choices are from
their own, and will wonder why.

Next, move to the high-involvement pairs (Set 3). Again, the results will be very
consistent, in pointing to structural dimensions that fit with high involvement (i.e., they
will be all “c”). Finally, go to human relations, and they will be mainly “b,” although this
one will be a bit inconsistent, because the human relations school falls in between the
other two.

Students are always impressed to see how just a few assumptions can consistently dictate
the way in which an organization is structured. (One thing that | note is my experience
that from speaking just a few minutes with the founder of a company, and learning her or
his assumptions, | can predict with a high degree of certainty how her or his organization
will be structured, without knowing anything at all about the actual structure!) For each
structural variable, discuss why a particular set of assumptions will lead to this outcome.
Overall, this exercise has a lot of impact on students, conveys very effectively the
relationship between assumptions and managerial strategy, and also helps them
understand the structural dimensions.

Classify Your Firm. This exercise gives students the chance to see if they can recognize
the type of managerial strategy at a firm at which they have had personal experience, and
helps them to learn how to do so by applying the structural variables. Hand out the
“Classify Your Firm” worksheet to all students, and ask them to select which structural
dimension best reflects their firm.

Collect these sheets, and then present a tabulation in the next class session. If a firm has
at least four dimensions consistent with a particular managerial strategy, | classify it as
having that managerial strategy. (If not, I say it has a mixed or no distinct managerial
strategy.) Return the worksheets to the students so they can see where their firms fall on
the managerial strategy continuum.

Using the tabulation, discuss why some firms tend to be classical, others high-
involvement, and so on. Reference the contextual variables, and see if they can help
explain the results. For example, if the classical firms tend to be fast-food restaurants, and
the high-involvement firms tend to professional services firms, discuss how their
environments, technology, etc., may differ.



Design Your Own Company! (Set 1)

You are just starting a company that will have about 200 employees initially, but is expected to grow
steadily. You need to design the organization structure. Unfortunately, you have had no management
training. However, you believe that you have a pretty good understanding ofhuman nature. The following
are your beliefs about people (employees):

(a) Most employees are inherently lazy and will avoid work if they possibly can.

(b) Most employees are primarily motivated by economic incentives and will do what will get them
the greatest economic gain, while doing as little as they can in return.

(©) Human feelings can cause unpredictable behaviour, so organizations must be designed in such a
way as to neutralize and control human feelings and thereby controltheir unpredictable traits.

(d) Although most people are not capable of self-control, some are. These manage the rest.

Organization Design:The following are some dimensions of organization structure, along with some of
the options available for each dimension.In designing your organization structure, choose the ones that
fit best with your beliefs about people (as described above).

Job Design:

(a) Narrow, very specific jobs that prevent social interaction

(b) Narrow, specific jobs that may allow some social interaction

(c) Broad, challenging jobs thatallow employees scope in deciding how to do their work

Coordination:

(a) Strict pyramidal hierarchy, with many rules;coordination by bosses

(b) More flexible structure, with coordination by employees themselves;relatively few rules
(c) Pyramidal hierarchy;many rules;most coordination by bosses, some by employees

Control:

(a) Exercised through employee peer pressure, through supervisor if this fails

(b) Employees expected to exercise self-control

(c) Exercised through close supervision, strict enforcement of rules, with penalties for breaching them

Communication:

(a) Open communication, high flow of communication up, down, and across the organization

(b) Very little communication, very restricted access to information

(c) Lots of social communication, but little task-oriented communication;restricted access to information

Leadership and Decision Making:

() Autocratic leadership, task-oriented, centralized decision making

(b) Participative leadership, decentralized decision making

(c) Autocratic leadership, employee-oriented, centralized decision making

Reward Systems:

(a) Fixed salary with seniority bonuses and liberal fringe benefits
(b) Pay based on number of units produced or hours worked

(c) Salary with gain sharing, profit sharing, or employee stock plans



Design Your Own Company! (Set 2)

You are just starting a company that will have about 200 employees initially, but is expected to grow
steadily.You need to design the organization structure. Unfortunately, you have had no management training.
However, you believe that you have a pretty good understanding ofhuman nature. The following are your
beliefs about people (employees):

(a)

(b)

(©)

(d)

Most employees are basically motivated by social needs and obtain their basic sense of identity through
relationships with others.

As a result of the fragmentation of jobs, meaning has gone out of work itself and must therefore be
sought in the social relationships on the job.

Most employees are more responsive to the social forces of the peer group than to the incentives and
controls of management.

Employees are responsive to management to the extent that management can meet employees’ social
needs and needs for acceptance and can get the work group to adopt favourable group norms.

Organization Design:The following are some dimensions of organization structure, along with some of the
options available for each dimension.In designing your organization structure, choose the ones that fit best
with your beliefs about people (as described above).

Job Design:

(a) Narrow, very specific jobs that prevent social interaction

(b) Narrow, specific jobs that may allow some social interaction

(c) Broad, challenging jobs that allow employees scope in deciding how to do their work

Coordination:

(a) Strict pyramidal hierarchy, with many rules; coordination by bosses

(b) More flexible structure, with coordination by employees themselves; relatively few rules
(c) Pyramidal hierarchy; many rules; most coordination by bosses, some by employees

Control:

(a) Exercised through employee peer pressure, through supervisor if this fails

(b) Employees expected to exercise self-control

(c) Exercised through close supervision, strict enforcement of rules, with penalties for breaching them

Communication:

(a) Open communication, high flow of communication up, down, and across the organization

(b) Very little communication, very restricted access to information

(c) Lots of social communication, but little task-oriented communication; restricted access to information

Leadership and Decision Making:

(a) Autocratic leadership, task-oriented, centralized decision making

(b) Participative leadership, decentralized decision making

(c) Autocratic leadership, employee-oriented, centralized decision making

Reward Systems:

(a) Fixed salary with seniority bonuses and liberal fringe benefits
(b) Pay based on number of units produced or hours worked

(¢) Salary with gain sharing, profit sharing, or employee stock plans



Design Your Own Company! (Set 3)

You are just starting a company that will have about 200 employees initially, but is expected to grow
steadily. You need to design the organization structure.Unfortunately, you have had no management
training. However, you believe that you have a pretty good understanding ofhuman nature. The following
are your beliefs about people (employees):

@) People seek to be mature on the job and are capable of doing so.Employees tend to live up (or
down) to expectations.If employees are given trust, they will usually be trustworthy.

(b) Work can be as natural as play if it satisfies higher order needs for learning and growth.

(c) Employees are primarily self-motivated and can exercise self-control if they are treated fairly and
are given interesting jobs that allow autonomy, learning, and growth.

(d) There is no inherent conflict between individual goals and organization goals.If employees are
treated fairly, and if the reward system is structured properly, they will voluntarily integrate their
goals with those of the organization.

Organization Design:The following are some dimensions of organization structure, along with some of
the options available for each dimension.In designing your organization structure, choose the ones that
fit best with your beliefs about people (as described above).

Job Design:

(a) Narrow, very specific jobs that prevent social interaction

(b) Narrow, specific jobs that may allow some social interaction

(c) Broad, challenging jobs that allow employees scope in deciding how to do their work

Coordination:

(a) Strict pyramidal hierarchy, with many rules; coordination by bosses

(b) More flexible structure, with coordination by employees themselves; relatively few rules
(c) Pyramidal hierarchy; many rules; most coordination by bosses, some by employees

Control:

(2) Exercised through employee peer pressure, through supervisor if this fails

(b) Employees expected to exercise self-control

(c) Exercised through close supervision, strict enforcement of rules, with penalties for breaching them

Communication:

(a) Open communication, high flow of communication up, down, and across the organization

(b) Very little communication, very restricted access to information

(c) Lots of social communication, but little task-oriented communication; restricted access to information

Leadership and Decision Making:

() Autocratic leadership, task-oriented, centralized decision making

(b) Participative leadership, decentralized decision making

(c) Autocratic leadership, employee-oriented, centralized decision making

Reward Systems:

(a) Fixed salary with seniority bonuses and liberal fringe benefits
(b) Pay based on number of units produced or hours worked

(c) Salary with gain sharing, profit sharing, or employee stock plans



Classify Your Firm

Firm Name:

Your task here is to classify your current employer (or a previous employer) according to which
of the following choices within each structural dimension best describes that employer, for the
majority of its employees. Do not base your selection on what you would like the organization to
be, or what the organization claims to be, but on what the organization actually displays, for the
majority of its employees.

Job Design:

(a) Narrow, very specific jobs that prevent social interaction

(b) Narrow, specific jobs that may allow some social interaction

(c) Broad, challenging jobs that allow employees scope in deciding how to do their work

Coordination:

(a) Strict pyramidal hierarchy, with many rules; coordination by bosses

(b) More flexible structure, with coordination by employees themselves; relatively few rules
(c) Pyramidal hierarchy; many rules; most coordination by bosses, some by employees

Control:

(a) Exercised through employee peer pressure, through supervisor if this fails

(b) Employees expected to exercise self-control

(c) Exercised through close supervision, strict enforcement of rules, with penalties for breaching
them

Communication:

(a) Open communication, high flow of communication up, down, and across the organization

(b) Very little communication, very restricted access to information

(c) Lots of social communication, but little task-oriented communication; restricted access to
information

Leadership and Decision Making:

(a) Autocratic leadership, task-oriented, centralized decision making

(b) Participative leadership, decentralized decision making

(c) Autocratic leadership, employee-oriented, centralized decision making

Reward Systems:

(a) Fixed salary with seniority bonuses and liberal fringe benefits
(b) Pay based on number of units produced or hours worked

(c) Salary with gain sharing, profit sharing, or employee stock plans



